# GENERALISATION OF KEITH'S CONJECTURE ON 9-REGULAR PARTITIONS AND 3-CORES 

BERNARD L. S. LIN and ANDREW Y. Z. WANG ${ }^{\boxtimes}$

(Received 13 December 2013; accepted 29 March 2014; first published online 20 May 2014)


#### Abstract

Recently, Keith used the theory of modular forms to study 9-regular partitions modulo 2 and 3. He obtained one infinite family of congruences modulo 3 , and meanwhile proposed an analogous conjecture. In this note, we show that 9 -regular partitions and 3-cores satisfy the same congruences modulo 3 . Thus, we first derive several results on 3-cores, and then generalise Keith's conjecture and get a stronger result, which implies that all of Keith's results on congruences modulo 3 are consequences of our result.


2010 Mathematics subject classification: primary 05A17; secondary 11P83.
Keywords and phrases: regular partitions, congruences, 3-cores.

## 1. Introduction

A partition of a positive integer $n$ is a nonincreasing sequence of positive integers whose sum is $n$. For a positive integer $\ell$, a partition is called $\ell$-regular if none of its parts is divisible by $\ell$. We denote the number of $\ell$-regular partitions of $n$ by $b_{\ell}(n)$, and follow the convention that $b_{\ell}(0)=1$. The generating function of $b_{\ell}(n)$ satisfies

$$
\sum_{n=0}^{\infty} b_{\ell}(n) q^{n}=\frac{\left(q^{\ell} ; q^{\ell}\right)_{\infty}}{(q ; q)_{\infty}}
$$

where $(a ; q)_{\infty}=(1-a)(1-a q)\left(1-a q^{2}\right) \cdots$.
In recent years, the divisibility and distribution of $b_{\ell}(n)$ modulo $m$ has been widely studied in the literature; see $[1,2,5-10,13,15-22]$. Recently, infinite families of congruences modulo 2 and modulo 3 for $b_{\ell}(n)$ have received a great deal of attention. For example, Andrews et al. [2] gave some infinite families of congruences modulo 2 and modulo 3 for 4 -regular partitions. In [22], Webb studied an infinite family of congruences modulo 3 for 13-regular partitions.

[^0]More recently, Xia and Yao [24] derived several infinite families of congruences modulo 2 for $b_{9}(n)$. In [14], Keith considered congruences modulo 3 for $b_{9}(n)$ and obtained the following main result.

Theorem 1.1 [14, Theorem 3]. For all $n \geq 0$ and $a \geq 1$,

$$
\begin{equation*}
b_{9}\left(4^{a} n+\frac{10 \cdot 4^{a-1}-1}{3}\right) \equiv 0 \quad(\bmod 3) . \tag{1.1}
\end{equation*}
$$

Furthermore, Keith proposed the following conjecture on congruences modulo 3 for $b_{9}(n)$.

Conjecture 1.2. For all $n \geq 0, a \geq 1$ and $k=3,13,18$ or 23 ,

$$
\begin{equation*}
b_{9}\left(5^{2 a} n+\frac{5^{2 a-2}-1}{3}+5^{2 a-2} k\right) \equiv 0 \quad(\bmod 3) \tag{1.2}
\end{equation*}
$$

and

$$
\begin{equation*}
\sum_{n=0}^{\infty} b_{9}(5 n+3) q^{n} \equiv q \frac{\left(q^{45} ; q^{45}\right)_{\infty}}{\left(q^{5} ; q^{5}\right)_{\infty}} \quad(\bmod 3) \tag{1.3}
\end{equation*}
$$

Equating the coefficients of $q^{5 n+1}$ and $q^{5 n}, q^{5 n+2}, q^{5 n+3}, q^{5 n+4}$ on both sides of (1.3) respectively, we obtain that

$$
\begin{equation*}
b_{9}(25 n+8) \equiv b_{9}(n) \quad(\bmod 3), \tag{1.4}
\end{equation*}
$$

and for $k=3,13,18$ or 23 ,

$$
\begin{equation*}
b_{9}(25 n+k) \equiv 0 \quad(\bmod 3) . \tag{1.5}
\end{equation*}
$$

From (1.4) and (1.5), and induction on $a$, it is not hard to obtain (1.2).
Thus to confirm the conjecture, we only need to prove (1.3). Recently, Xia and Yao [23] have found a proof of (1.3) by employing some $q$-series identities discovered by Ramanujan and Hirschhorn. An attempt to present an elementary proof of Keith's conjecture is the motivation for this note.

We aim to derive the following main result, which generalises (1.3) and leads to an affirmative answer to Keith's conjecture.

Theorem 1.3. Let $p \equiv 2(\bmod 3)$ be a prime. Then

$$
\begin{equation*}
\sum_{n=0}^{\infty} b_{9}\left(p n+\frac{2 p-1}{3}\right) q^{n} \equiv q^{(p-2) / 3} \frac{\left(q^{9 p} ; q^{9 p}\right)_{\infty}}{\left(q^{p} ; q^{p}\right)_{\infty}} \quad(\bmod 3) \tag{1.6}
\end{equation*}
$$

Remark. This result follows from Theorem 2.3, which can also be derived by two results of Hirschhorn and Sellers [12]. Based on a special case of Ramanujan's ${ }_{1} \psi_{1}$ summation formula, Theorem 2.3 is deduced immediately. In contrast to Hirschhorn and Sellers' work, the techniques we use here are more elementary and direct.

## 2. Some results on 3-cores

Let $a_{t}(n)$ denote the number of partitions of $n$ that are $t$-cores, where a partition is a $t$-core if it has no hook numbers that are divisible by $t$. Then it is well known that the generating function of $a_{t}(n)$ satisfies

$$
\sum_{n=0}^{\infty} a_{t}(n) q^{n}=\frac{\left(q^{t} ; q^{t}\right)_{\infty}^{t}}{(q ; q)_{\infty}}
$$

First we present a simple relation concerning $b_{p^{2}}(n)$ and $a_{p}(n)$ for any prime $p$.
Lemma 2.1. Given a prime $p$, for all $n \geq 0$,

$$
\begin{equation*}
b_{p^{2}}(n) \equiv a_{p}(n) \quad(\bmod p) . \tag{2.1}
\end{equation*}
$$

Proof. It is straightforward to check that

$$
(q ; q)_{\infty}^{p} \equiv\left(q^{p} ; q^{p}\right)_{\infty} \quad(\bmod p) .
$$

Replacing $q$ by $q^{p}$, we obtain

$$
\left(q^{p} ; q^{p}\right)_{\infty}^{p} \equiv\left(q^{p^{2}} ; q^{p^{2}}\right)_{\infty} \quad(\bmod p)
$$

and

$$
\frac{\left(q^{p^{2}} ; q^{p^{2}}\right)_{\infty}}{(q ; q)_{\infty}} \equiv \frac{\left(q^{p} ; q^{p}\right)_{\infty}^{p}}{(q ; q)_{\infty}} \quad(\bmod p)
$$

This yields that $b_{p^{2}}(n) \equiv a_{p}(n)(\bmod p)$.
As an immediate corollary of Lemma 2.1, we have

$$
\begin{equation*}
b_{9}(n) \equiv a_{3}(n) \quad(\bmod 3) \tag{2.2}
\end{equation*}
$$

which prompts us to shift our attention from 9-regular partitions to 3-cores.
We now introduce the following special case of Ramanujan's ${ }_{1} \psi_{1}$ summation formula, which will play a key role throughout the note.

Lemma 2.2. For $|q|<|x|<1$,

$$
\begin{equation*}
\sum_{n=-\infty}^{\infty} \frac{x^{n}}{1-a q^{n}}=\frac{(q ; q)_{\infty}^{2}(a x ; q)_{\infty}(q / a x ; q)_{\infty}}{(a ; q)_{\infty}(q / a ; q)_{\infty}(x ; q)_{\infty}(q / x ; q)_{\infty}} \tag{2.3}
\end{equation*}
$$

Proof. For a proof of (2.3), see [2].
Theorem 2.3. Let $p \equiv 2(\bmod 3)$ be a prime. Then

$$
\begin{equation*}
\sum_{n=0}^{\infty} a_{3}\left(p n+\frac{2 p-1}{3}\right) q^{n}=q^{(p-2) / 3} \frac{\left(q^{3 p} ; q^{3 p}\right)_{\infty}^{3}}{\left(q^{p} ; q^{p}\right)_{\infty}} \tag{2.4}
\end{equation*}
$$

and

$$
\begin{equation*}
\sum_{n=0}^{\infty} a_{3}\left(p n+\frac{2 p-1}{3}\right) q^{n}=\sum_{n=0}^{\infty} a_{3}(n) q^{p n+(p-2) / 3} \tag{2.5}
\end{equation*}
$$

Proof. Employing the generating function of $a_{3}(n)$, the second statement follows immediately from the previous one, so it suffices to prove (2.4).

With $q$ replaced by $q^{6}, x$ by $q^{2}, a$ by $q$ in (2.3), we deduce that

$$
\begin{equation*}
\frac{\left(q^{3} ; q^{3}\right)_{\infty}^{3}}{(q ; q)_{\infty}}=\sum_{n=-\infty}^{\infty} \frac{q^{2 n}}{1-q^{6 n+1}} \tag{2.6}
\end{equation*}
$$

We first consider the case $p \geq 5$. According to the congruence classes modulo $p$, we obtain

$$
\begin{equation*}
\sum_{n=-\infty}^{\infty} \frac{q^{2 n}}{1-q^{6 n+1}}=\sum_{n=-\infty}^{\infty} \sum_{k=0}^{p-1} \frac{q^{2(p n+k)}}{1-q^{6(p n+k)+1}}=\sum_{n=-\infty}^{\infty} \sum_{k=0}^{p-1} \sum_{j=0}^{\infty} q^{2(p n+k)+(6(p n+k)+1) j} \tag{2.7}
\end{equation*}
$$

Write $k_{0}=(5 p-1) / 6$ and $\gamma(p)=(2 p-1) / 3$. Let $0 \leq k \leq p-1$. If $k \neq k_{0}$, then $6 k+1$ is not divisible by $p$. Hence, $2 k+(6 k+1) j \equiv \gamma(p)(\bmod p)$ holds if and only if $j \equiv \gamma(p)$ $(\bmod p)$. If $k=k_{0}$, it is clear that, for any $j \geq 0$,

$$
2\left(p n+k_{0}\right)+\left(6\left(p n+k_{0}\right)+1\right) j \equiv \gamma(p) \quad(\bmod p)
$$

Extracting those terms in (2.7) whose power of $q$ is congruent to $\gamma(p)$ modulo $p$ and using (2.6),

$$
\begin{aligned}
\sum_{n=0}^{\infty} a_{3}(p n+\gamma(p)) q^{p n+\gamma(p)}= & \sum_{n=-\infty}^{\infty} \sum_{\substack{k=0 \\
k \neq k_{0}}}^{p-1} \sum_{j=0}^{\infty} q^{2(p n+k)+(6(p n+k)+1)(p j+\gamma(p))} \\
& +\sum_{n=-\infty}^{\infty} \sum_{j=0}^{\infty} q^{2\left(p n+k_{0}\right)+\left(6\left(p n+k_{0}\right)+1\right) j} \\
= & \sum_{n=-\infty}^{\infty} \sum_{\substack{k=0 \\
k \neq k_{0}}}^{p-1} \frac{q^{2(p n+k)+\gamma(p)(6(p n+k)+1)}}{1-q^{p(6(p n+k)+1)}} \\
& +\sum_{n=-\infty}^{\infty} \frac{q^{2\left(p n+k_{0}\right)}}{1-q^{6\left(p n+k_{0}\right)+1}}
\end{aligned}
$$

Dividing both sides of the above equation by $q^{\gamma(p)}$ and replacing $q^{p}$ by $q$ yields

$$
\begin{aligned}
\sum_{n=0}^{\infty} a_{3}(p n+\gamma(p)) q^{n} & =\sum_{n=-\infty}^{\infty} \sum_{\substack{k=0 \\
k \neq k_{0}}}^{p-1} \frac{q^{4(p n+k)}}{1-q^{6(p n+k)+1}}+\sum_{n=-\infty}^{\infty} \frac{q^{2 n+1}}{1-q^{6 n+5}} \\
& =\sum_{n=-\infty}^{\infty} \frac{q^{4 n}}{1-q^{6 n+1}}-\sum_{n=-\infty}^{\infty} \frac{q^{4\left(p n+k_{0}\right)}}{1-q^{6\left(p n+k_{0}\right)+1}}+\sum_{n=-\infty}^{\infty} \frac{q^{2 n+1}}{1-q^{6 n+5}}
\end{aligned}
$$

Employing the fact that

$$
\sum_{n=-\infty}^{\infty} \frac{q^{4 n}}{1-q^{6 n+1}}=\sum_{n=-\infty}^{\infty} \frac{q^{-4 n-4}}{1-q^{-6 n-5}}=-\sum_{n=-\infty}^{\infty} \frac{q^{2 n+1}}{1-q^{6 n+5}}
$$

and applying (2.3) with $x=q^{4 p}, a=q^{5 p}, q=q^{6 p}$,

$$
\begin{aligned}
\sum_{n=0}^{\infty} a_{3}(p n+\gamma(p)) q^{n} & =-q^{4 k_{0}} \sum_{n=-\infty}^{\infty} \frac{q^{4 p n}}{1-q^{6 p n+5 p}} \\
& =-q^{4 k_{0}} \frac{\left(q^{6 p} ; q^{6 p}\right)_{\infty}^{2}\left(q^{9 p} ; q^{6 p}\right)_{\infty}\left(q^{-3 p} ; q^{6 p}\right)_{\infty}}{\left(q^{5 p} ; q^{6 p}\right)_{\infty}\left(q^{p} ; q^{6 p}\right)_{\infty}\left(q^{4 p} ; q^{6 p}\right)_{\infty}\left(q^{2 p} ; q^{6 p}\right)_{\infty}} \\
& =-q^{4 k_{0}} \frac{1-q^{-3 p}}{1-q^{3 p}} \frac{\left(q^{6 p} ; q^{6 p}\right)_{\infty}^{3}\left(q^{3 p} ; q^{6 p}\right)_{\infty}^{3}}{\left(q^{p} ; q^{p}\right)_{\infty}} \\
& =q^{(p-2) / 3} \frac{\left(q^{3 p} ; q^{3 p}\right)_{\infty}^{3}}{\left(q^{p} ; q^{p}\right)_{\infty}}
\end{aligned}
$$

We now consider the case $p=2$. Since

$$
\sum_{n=-\infty}^{\infty} \frac{q^{2 n}}{1-q^{6 n+1}}=\sum_{n=-\infty}^{\infty} \sum_{k=0}^{\infty} q^{2 n} q^{(6 n+1) k}
$$

we have

$$
\sum_{n=0}^{\infty} a_{3}(2 n+1) q^{2 n+1}=\sum_{n=-\infty}^{\infty} \sum_{k=0}^{\infty} q^{2 n} q^{(6 n+1)(2 k+1)}=\sum_{n=-\infty}^{\infty} \frac{q^{8 n+1}}{1-q^{12 n+2}},
$$

and thus

$$
\begin{aligned}
\sum_{n=0}^{\infty} a_{3}(2 n+1) q^{n} & =\sum_{n=-\infty}^{\infty} \frac{q^{4 n}}{1-q^{6 n+1}} \\
& =\frac{\left(q^{6} ; q^{6}\right)_{\infty}^{2}\left(q^{5} ; q^{6}\right)_{\infty}\left(q ; q^{6}\right)_{\infty}}{\left(q ; q^{6}\right)_{\infty}\left(q^{5} ; q^{6}\right)_{\infty}\left(q^{4} ; q^{6}\right)_{\infty}\left(q^{2} ; q^{6}\right)_{\infty}} \\
& =\frac{\left(q^{6} ; q^{6}\right)_{\infty}^{3}}{\left(q^{2} ; q^{2}\right)_{\infty}}
\end{aligned}
$$

This completes the proof.
Remark. Applying (2.2), we can immediately obtain our main result, Theorem 1.3, on 9-regular partitions which is analogous to Theorem 2.3 on 3-cores.

As a consequence of Theorem 2.3, we can obtain the following result by comparing the coefficients of $q^{n}$ on both sides of (2.5).

Theorem 2.4. Let $p \equiv 2(\bmod 3)$ be a prime and $0 \leq r \leq p-1$ be an integer with $r \neq(p-2) / 3$. Then, for any $n \geq 0$,

$$
\begin{equation*}
a_{3}\left(p^{2} n+\frac{p^{2}-1}{3}\right)=a_{3}(n) \tag{2.8}
\end{equation*}
$$

and

$$
\begin{equation*}
a_{3}\left(p^{2} n+p r+\frac{2 p-1}{3}\right)=0 . \tag{2.9}
\end{equation*}
$$

Based on Theorem 2.4 and by induction, we have the following corollary.
Corollary 2.5. Let $p \equiv 2(\bmod 3)$ be a prime and $0 \leq r \leq p-1$ be an integer with $r \neq(p-2) / 3$. Then, for any $\alpha \geq 1$ and $n \geq 0$,

$$
\begin{equation*}
a_{3}\left(p^{2 \alpha} n+\frac{p^{2 \alpha}-1}{3}\right)=a_{3}(n) \tag{2.10}
\end{equation*}
$$

and

$$
\begin{equation*}
a_{3}\left(p^{2 \alpha} n+p^{2 \alpha-1} r+\frac{2 p^{2 \alpha-1}-1}{3}\right)=0 . \tag{2.11}
\end{equation*}
$$

Remark. Hirschhorn and Sellers [12] derived (2.9) and (2.10) by establishing an explicit formula for $a_{3}(n)$ in terms of the factorisation of $3 n+1$. Baruah and Nath [3, 4] presented two different proofs of (2.10).

Another application of Lemma 2.2 to the study of 3-cores is as follows.
Theorem 2.6. For all $n \geq 0$,

$$
\begin{equation*}
a_{3}(n)=d_{1,3}(3 n+1)-d_{2,3}(3 n+1), \tag{2.12}
\end{equation*}
$$

where $d_{r, 3}(n)$ denotes the number of positive divisors of $n$ congruent to $r$ modulo 3 .
Proof. Replacing $q$ with $q^{3}, x$ with $q, a$ with $-q$ in (2.3),

$$
\begin{equation*}
\frac{\left(q^{3} ; q^{3}\right)_{\infty}^{3}}{(q ; q)_{\infty}}=\sum_{n=-\infty}^{\infty} \frac{q^{n}}{1+q^{3 n+1}}=\sum_{n=0}^{\infty}\left(\frac{q^{2 n+1}}{1+q^{3 n+2}}+\frac{q^{n}}{1+q^{3 n+1}}\right) . \tag{2.13}
\end{equation*}
$$

Thus,

$$
\begin{aligned}
\sum_{n=0}^{\infty} a_{3}(n) q^{3 n+1} & =\sum_{n=0}^{\infty}\left(\frac{q^{6 n+4}}{1+q^{9 n+6}}+\frac{q^{3 n+1}}{1+q^{9 n+3}}\right) \\
& =\sum_{n=0}^{\infty} \sum_{k=0}^{\infty}\left((-1)^{k} q^{(3 n+2)(3 k+2)}+(-1)^{k} q^{(3 n+1)(3 k+1)}\right) \\
& =\sum_{n=0}^{\infty} \sum_{k=0}^{\infty}\left(q^{(3 n+2)(6 k+2)}-q^{(3 n+2)(6 k+5)}+q^{(3 n+1)(6 k+1)}-q^{(3 n+1)(6 k+4)}\right) \\
& =\sum_{n=0}^{\infty} \sum_{k=0}^{\infty}\left(q^{(3 n+1)(3 k+1)}-q^{(3 n+2)(3 k+2)}\right)
\end{aligned}
$$

This yields that

$$
a_{3}(n)=\sum_{\substack{0<d \mid(3 n+1) \\ d \equiv 1(\bmod 3)}} 1-\sum_{\substack{0<d \|(3 n+1) \\ d \equiv 2(\bmod 3)}} 1=d_{1,3}(3 n+1)-d_{2,3}(3 n+1),
$$

which completes the proof.

Remark. Theorem 2.6 was first proved by Granville and Ono [11] using the theory of modular forms. Hirschhorn and Sellers [12] presented an elementary proof of (2.12). Recently Baruah and Nath [4] gave a new proof of Theorem 2.6 with the help of a classical result by Lorenz.

## 3. Generalisation of Keith's conjecture

We now present a stronger result, which includes Keith's conjecture as a special case.
Theorem 3.1. Suppose that $R$ is a positive integer and $R=\prod_{i=1}^{n} r_{i}^{2 \gamma_{i}}$, where the $r_{i}$ are distinct primes congruent to 2 modulo 3 and $\gamma_{i} \geq 1$. Then, for all $n \geq 0$,

$$
\begin{equation*}
b_{9}\left(R n+\frac{R-1}{3}\right) \equiv b_{9}(n) \quad(\bmod 3) \tag{3.1}
\end{equation*}
$$

and

$$
\begin{equation*}
b_{9}(R n+t) \equiv 0 \quad(\bmod 3) \tag{3.2}
\end{equation*}
$$

provided that there exists $1 \leq i \leq n$ such that $\operatorname{ord}_{r_{i}}(3 t+1)$ is odd and less than $2 \gamma_{i}$.
Proof. Applying (2.2) and (2.10), for any $\alpha \geq 1$ and $n \geq 0$,

$$
\begin{equation*}
b_{9}\left(p^{2 \alpha} n+\frac{p^{2 \alpha}-1}{3}\right) \equiv b_{9}(n) \quad(\bmod 3), \tag{3.3}
\end{equation*}
$$

where $p \equiv 2(\bmod 3)$ is a prime.
From (3.3),

$$
b_{9}\left(r_{i}^{2 \gamma_{i}} n+\frac{r_{i}^{2 \gamma_{i}}-1}{3}\right) \equiv b_{9}(n) \quad(\bmod 3)
$$

It follows that if $j \neq i$ then

$$
\begin{aligned}
b_{9}(n) & \equiv b_{9}\left(r_{j}^{2 \gamma_{j}}\left(r_{i}^{2 \gamma_{i}} n+\frac{r_{i}^{2 \gamma_{i}}-1}{3}\right)+\frac{r_{j}^{2 \gamma_{j}}-1}{3}\right) \\
& \equiv b_{9}\left(r_{j}^{2 \gamma_{j}} r_{i}^{2 \gamma_{i}} n+\frac{r_{j}^{2 \gamma_{j}} r_{i}^{2 \gamma_{i}}-1}{3}\right) \quad(\bmod 3)
\end{aligned}
$$

Repeating this argument yields (3.1).
Assume that $\operatorname{ord}_{r_{i}}(3 t+1)=2 \beta_{i}-1$ with $1 \leq \beta_{i} \leq \gamma_{i}$. Then $3 t+1$ can be written as

$$
3 t+1=d \cdot r_{i}^{2 \beta_{i}-1}
$$

where $d$ is not divisible by $r_{i}$. It is easy to see that $d$ must be congruent to 2 modulo 3 and

$$
\frac{d-2}{3} \not \equiv \frac{r_{i}-2}{3} \quad\left(\bmod r_{i}\right) .
$$

Let $(d-2) / 3=l r_{i}+s$ with $0 \leq s<r_{i}$. Then we can rewrite $R n+t$ as

$$
R n+t=r_{i}^{2 \beta_{i}}\left(\frac{R n}{r_{i}^{2 \beta_{i}}}+l\right)+r_{i}^{2 \beta_{i}-1} s+\frac{2 r_{i}^{2 \beta_{i}-1}-1}{3} .
$$

Hence, (3.2) follows immediately from (2.2) and (2.11). This completes the proof.

Remark. For fixed $a \geq 1$, let $R=5^{2 a}$ and $t=\frac{1}{3}\left(5^{2 a-2}-1\right)+5^{2 a-2} k$. When $k=3,13,18$ or 23 , it is easy to see that $\operatorname{ord}_{5}(3 t+1)=2 a-1$. According to the second part of Theorem 3.1, the first claim of Conjecture 1.2 holds.

The following corollary is an immediate consequence of Theorem 3.1.
Corollary 3.2. Let $p \equiv 2(\bmod 3)$ be a prime. For $a \geq 1,0 \leq b<a$ and $n \geq 0$,

$$
\begin{equation*}
b_{9}\left(p^{2 a} n+\frac{c_{p} \cdot p^{2 b+1}-1}{3}\right) \equiv 0 \quad(\bmod 3) \tag{3.4}
\end{equation*}
$$

whenever $c_{p} \equiv 2(\bmod 3)$ and is not divisible by $p$.
Remark. In fact Theorem 1.1 is a special case of (3.4). Letting $p=2, b=a-1$ and $c_{2}=5$, Theorem 1.1 follows immediately.

## Acknowledgement

The authors would like to thank an anonymous referee for a very careful review and many valuable comments on the manuscript.

## References

[1] S. Ahlgren and J. Lovejoy, 'The arithmetic of partitions into distinct parts', Mathematika 48 (2001), 203-211.
[2] G. E. Andrews, M. D. Hirschhorn and J. A. Sellers, 'Arithmetic properties of partitions with even parts distinct', Ramanujan J. 23 (2010), 169-181.
[3] N. D. Baruah and K. Nath, 'Two quotients of theta functions and arithmetic identities for 3-cores', in: The Legacy of Srinivasa Ramanuajan, RMS Lecture Notes Series 20 (eds. B. C. Berndt and D. Prasad) (Ramanujan Mathematical Society, 2013), 99-110.
[4] N. D. Baruah and K. Nath, 'Some results on 3-cores', Proc. Amer. Math. Soc. 142 (2014), 441-448.
[5] N. Calkin, N. Drake, K. James, S. Law, P. Lee, D. Penniston and J. Radder, 'Divisibility properties of the 5-regular and 13-regular partition functions', Integers 8 (2008), A60.
[6] S. C. Chen, 'On the number of partitions with distinct even parts', Discrete Math. 311 (2011), 940-943.
[7] S. P. Cui and N. S. S. Gu, 'Arithmetic properties of the $\ell$-regular partitions', Adv. in Appl. Math. 51 (2013), 507-523.
[8] B. Dandurand and D. Penniston, ' $\ell$-divisibility of $\ell$-regular partition functions', Ramanujan J. 19 (2009), 63-70.
[9] D. Furcy and D. Penniston, 'Congruences for $\ell$-regular partition functions modulo 3', Ramanujan J. 27 (2012), 101-108.
[10] B. Gordon and K. Ono, 'Divisibility of certain partition functions by powers of primes', Ramanujan J. 1 (1997), 25-34.
[11] A. Granville and K. Ono, 'Defect zero p-blocks for finite simple groups', Trans. Amer. Math. Soc. 348 (1996), 331-347.
[12] M. D. Hirschhorn and J. A. Sellers, 'Elementary proofs of various facts about 3-cores', Bull. Aust. Math. Soc. 79 (2009), 507-512.
[13] M. D. Hirschhorn and J. A. Sellers, 'Elementary proofs of parity results for 5-regular partitions', Bull. Aust. Math. Soc. 81 (2010), 58-63.
[14] W. J. Keith, ‘Congruences for 9-regular partitions modulo 3’, Ramanujan J., to appear.
[15] B. L. S. Lin, 'Arithmetic of the 7-regular bipartition function modulo 3', Ramanujan J., to appear.
[16] J. Lovejoy, 'The divisibility and distribution of partitions into distinct parts', Adv. Math. 158 (2001), 253-263.
[17] J. Lovejoy, 'The number of partitions into distinct parts modulo powers of 5', Bull. Lond. Math. Soc. 35 (2003), 41-46.
[18] J. Lovejoy and D. Penniston, '3-regular partitions and a modular K3 surface', Contemp. Math. 291 (2001), 177-182.
[19] K. Ono and D. Penniston, 'The 2-adic behavior of the number of partitions into distinct parts', J. Combin. Theory Ser. A 92 (2000), 138-157.
[20] D. Penniston, 'The $p^{a}$-regular partition function modulo $p^{j}$, J. Number Theory 94 (2002), 320-325.
[21] D. Penniston, 'Arithmetic of $\ell$-regular partition functions', Int. J. Number Theory 4 (2008), 295-302.
[22] J. J. Webb, 'Arithmetic of the 13-regular partition function modulo 3', Ramanujan J. 25 (2011), 49-56.
[23] E. X. W. Xia and O. X. M. Yao, 'A proof of Keith's conjecture for 9-regular partitions modulo 3', Int. J. Number Theory 10 (2014), 669-674.
[24] E. X. W. Xia and O. X. M. Yao, 'Parity results for 9-regular partitions', Ramanujan J., to appear.

BERNARD L. S. LIN, School of Sciences, Jimei University,
Xiamen 361021, PR China
e-mail: linlishuang@jmu.edu.cn
ANDREW Y. Z. WANG, School of Mathematical Sciences, University of Electronic Science and Technology of China, Chengdu 611731, PR China
e-mail: yzwang @uestc.edu.cn


[^0]:    The first author was supported by the Natural Science Foundation of Fujian Province of China (No. 2013J05011), and the second author was supported by the Fundamental Research Funds for Central Universities, ZYGX2012J116.
    (C) 2014 Australian Mathematical Publishing Association Inc. 0004-9727/2014 \$16.00

